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18] 14. Answer each question as True (T) or False (F).

ay T are functions such that, for all z, f'=g¢ and ¢ = f the f%—g? is
[
constant.

b
(b) If / f(z)dz exists then f must be differentiable on [a, b].

(c) If f,g are continuous functions with f(z) > g(z) then

a

(f) If f is a continuous function on (—o0o0,00) and f is odd then / flxjda=0.

==l

A" 2
(ol o= (x—zjtb?g? then f has a local (= relative) maximum at z = —2.

(h) If y=f(z)=2"+2>+1 and f~'(z) is the inverse function of f then

d =
byt +3y?
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